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PART A: Veeabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach

sentence. Then mark the correct choice on your answer sheet.

4-

9-

During the ----—---—--- between arriving at the airport and boarding the plane, we’ll probably
do a bhit of window shopping.

1) interval 2) Inlervenlion 3) imbalunce 4} inconsisteney

That ugly vacant lot ---—------ from the heauty of the neighborhood.

1) depletes 2) derives 3) detracts 4) deviates

At first, the Savings Mart didn’t do well, but after it lowered its prices and increased its
advertising, the store began to ----———--- )

1) prosper 2) subside 3) arise 4) strive

The movement of clouds may seem to be ----——----, hut scientists know that there is a
pattern to how they move,

I} compatible 2) specific 3) transient 4) random

Since my math class was very difficult for me, I consider the B that T got for the course
te he a great ——-—--——--.

1) illusion 2) triumph 3) obligation 4} disapproval

The hardware store sells ---—---——-- stones made of plastic that you can open and hide a house
key in. Then vou can hide the key by leaving the “stone™ somewhere near your door.

1) confidential 2) artificial 3) superiicial 4} metaphorical
Rhoda's budget is so tight that she felt it would be --—--—--- to buy hersclf even a ten-
dollar pair of earrings.

1) plausible 2) 1angiblc 3) sullicient 4 extravagant

When the climbers reached the peak of the tallest mountain in the world, they felt it was
a ----—--—-—- pecasion and were filled with pride.

1) momentary 2) moribund 3) meticulous 4y momentous

The ramification of committing a murder is to serve a prison sentence even if you
------——-- your actiens.

1) implement 2) renew 3) regret 4} exceed

1~ It iz often an attorney’s job to construe the meaning of a contract and then share that

------——-- with a clicnt and, if nceded, with a judge or jury.
1} justification 2) interpretation 3) transformation 4} condemnation
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PART B: Cloze Test
Dircetions: Read the following passage and decide which choice (1), (2), (3), or (4) best fifs

each space, Then mark the correct choice on your answer sheet.

For 20 years, children have been treated (11) ----——---- all sorts of programs on
television which are supposed to help them hecome better at skills such as reading and
math. ‘These programs have presented (12) ---------- such as counting and recognition
ol letters as nothing but fun, (13) -—----—-—-- by such things as rainbows and jumping
[rogs. (14} -=mmanemm- no unprovemnent in children's abilitics in literacy and numcracy
(15) ———mmmmm- . These [un ways ol teaching such skills don’t seem (o work.

11- 1)in 2) for 3)to 4} on

12- 1) the leaming of skills 2) skills to leamn
3) the skills of learning 4) learning of skills in

13- 1) arc accompanicd 2) lo accompany
3) being accompanied 4) to be accompanied

14- 1) In spite of 2) But 3) Although 4y Whereas

15- 1) would observe 2) it observes
3) has been observed 4) to be observed

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choiee on your answer sheef,

PASSAGKE 1:

Although it is based on Internct technology platlorms, the sharing cconomy 1s a
busincss model based on renling. As uscrs, public agencics could tap on the public
value of the sharing economy. The emphasis on renting could reduce waste and
increase efficiency as it puts into use the otherwise dormant assets or labor. Adaptive
governance in the context of sharing economy would imply that the public agencies
shift internal digital government processes {e.g. procurement) to share assets. [igital
government could facilitale on demand sharing Lo use the asscls al capacily. Sharing
equipment, vehicles, and space hold promise on this front. Public agencies could also
partner with sharing economy platforms to complement and supplement public
services, such as transit and emergency accommadation after disasters.

Contending with the sharing economy is, however, not simply a technelogical
artifael for public agencics. It also implics dealing with broader conscquences ol the
sharing economy. Adaptive governance in this context implies being cognizant of the
policy responses to address the downsides. Digital government researchers should not
only focus on the digital aspect, but also have to be wary of unequal impact of the
economy in terms of who is served and who 1s not. Just as digital divide has been a
long-lerm concem (or ¢-government researchers, inequality 1s a central concern with
the sharing cconomy, The sharing cconomy could be viewed ay a harsher form of
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capitalisim that could exacerbate inequality. The sharing economy's benefits accrue to
the already well-to-do class with property. and gigs result in precarious work
arrangements without benefits. (Government agencies have to deal with the burden of
the negative externalitics, Strident criticism ol the sharing cconomy hay come lrom
incumbent, well-cstablished groups like taxi unions and hotels, whose busincsses arc
disrupted by the sharing cconomy.

16- The anthor of this passage wants {0 -——-—-—--—-- '
I} represent the prospects of sharing economy for the public sectors
2) persuade people in renting or selling the dormant asscts
3) describe sharing cconomy as an Intcrnct based activily
4) emphasize the eftects of online shopping values
17-  All of the following are the benefits of sharing ceonomy EXCEPT ——--—--—--—- g
1) making money from underused assets
2) decreasing waste in the environment
3) accelerating services in times ol disasicrs
4) increasing ceonomic activitics ol the public ageneics
18- The sharing cconomy, aceording to the passage, —--—--—--——-- S
1) 1s a form against the capitalism
2) can enforce the inequality in the society
3) contributes to incumbent, well established groups in the socicty
43 is the harshest form of ceconomy with the burden ol the negative extemalitics
19- The word *cognizant’ in paragraph 2 can be substituted by --------—-—- :
1) cautious 2) critical
3) aware 4) fair
20- The paragraph following this passage most probably discusses ---—-----—-——,
1) the main [calures of a sharing cconomy busimess model
2) the most conunonly used terms in literature (o desceribe the sharing ceconomy
3) future policies suppeorting the rapid rise of sharing economy
4) the ways that public sector agencies would need to deal with the downsides of the
sharing economy

FPASSAGE 2:

The unemployvment rate is a vital measure of economic performance. A falling
unemployment rate generally occurs alongside rising gross domestic product {GIIP),
higher wages, and higher indusirial production, The government can generally achicve a
lower unemplovment rale using expansionary liscal or monclary policy, so it might be
assumed that policymakers would consistently target a lower unemplovment rate using
these policies. Part of the reason policymakers do not revolve around the relationship
between the unemplovment rate and the inflation rate.

[n general, economists have tound that when the unemployment rate drops below a
certain level, referred (o as the natural raic, the inflation rate will tend o increase and
conlinue 1o rise until the unemployvment rale returns 1o its natural rate. Allernatively,
when the unemplovment rate rises above the natural rate, the inflation rate will tend to
decelerate. The natural rate of unemployment is the level of unemployiment consistent
with sustainable economic growth. An unemployment rate below the natural rate
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suggests that the economy 1s growing faster than its maximum sustainable rate, which
places upward pressure on wages and prices in general leading to increased inflation.
‘The opposite is true if the unemployment rate rises above the natural rate. downward
pressure 18 placed on wages and prices in general Ieading o deercased inflation,
Wages make up a signilicant portion ol the costs ol goods and scrvices, therelore
upward or downward pressure on wages pushes average prices in the same dircetion.

Two other sources of variation in the rate ot intlation are intlation expectations and
unexpected changes in the supply of goods and services. [nflation expectations play a
significant role in the actual level of inflation, because individuals incorporate their
inflation expectations when making price-setting decisions or when bargaining for
wages. A change in the availability of goods and scrvices used as mputs in the
production process (c.g., oil) generally impacts the [inal price of goods and services in
the economy. and therefore changing the rate of inflation.

The natural rate of unemployment is not immutable and fluctuates alongside
changes within the economy.

21- The auther’s main purpoese in this passage is to --------—-—-,
1) show how mmllation and uncmplovment are related
2) provide information about the reasons of high inflation
3) explain the most critical measure of economic performance
43 criticize the rising rate of unemployment and inflation 1n the world
22-  Policymakers can reach their goal in decreasing the unemployment rate by ----——---——-- §
1) restricling gross domestlic product
2) placing upward pressurc on wages
3) revolving around rising the inflation rate
4y applving policies leading to expanding the money supply
23- It's referred in the passage that attempts to lower the unemployment rate below the
natural rate --—--------- 5
1) cavusc positve [luctuations in the cconomy
2) result in rising gross domestic product
3) will ignite ever-accelerating inflation
4y will fall the purchasing value of money
24- The correlativn between Availability of goods and services and the rate of inflation is

1) posiiive 2) Inverse 3) reinloreing 4 neutral

25- The word “immutable” in the last line means ---—------—-——,
1) Mexible 2) changeable 3) stcady 4) unprediclable
PASSAGE 3;

In a dynamic business environment, with gvolying markets where globalization puts its
mark on the specilic development, the companies' decisions in the arca ol marketing
are crucial. Companics can markel their producis and services because they have
previously conducted activities relaled 1o inercasing awarcncess, and also promotion
activities. Furthermore, the impact of local culture on marketing activities and market
research conducted to investigate the relationship between consumers' interest and
attitudes towards company products have an important role. Also, it is necessary to
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take into account per capita income from the target market. in order to evaluate how
potential consumers will be influenced by marketing policy decisions. 'loday,
companies want to be able to access international markets. which may open new
opportunitics [or businesy development, Thus, international trade appears supporicd by
the process ol globalization, with a markel bevond the borders of home couniry.
International trade relers primarily to trade n goods and serviees across the border ol a
country. Multinational companies play an important role in the development of
international trade, among other factors such as globalization and cutsourcing. Due to
international trade, consumers in different countries can purchase goods and services
which are made abroad, imply¥ing significant resources, as a border crossing requires
cerfain ¢osts, such as some taxes, and cconomic, social, cultural, lcgislative and
political diflerences belween countrics.

It is important for a company that wants to market their products and services in
other countries, to consider local culture and local language. thus to be able to find &
strategic position successfully in the market. Companies face many challenges on the
market, not only i terms of marketing products or services. 'l hey must have an effective
planning program, and develop cllective siralcgics lor sourcing, iransporlaiion,
marketing activity, with demands and results that diller from once country 1o anothcer,
subject Lo diflerent regimes related (o trade policies, legislation, inflrastructure, cullure,
etc. Also, companies need to be socially and environmentally responsible, requiring to
engage in these actions for the good of society, but also to build a successful business.

26- The word “evolving™ in the first line means --—--—------- i
1) ollcring 2) considering 3) depending 4} supporling
27-  The pre-requirements for sclling products and scrviees are —-—-——--———,
1) promotion of a new product and increasing awareness
2) certain costs and dynamic business environment
3) creating interest in company s products and increasing customers
4y increasing cxchange ol products and processes ol inlernational integration
28- Al of the following, according to the passage, have critical impacts on the progress of

international trade EXCEPT e,
1) globalization 2) outsourcing
3) potential consumers 4) multinational c-ompanies;

29-  International trade, you can infer from the passage, -------—--—--
1) allows companies to produce goods and services that may not have been available
domestically
2) can stimulate economic growth of countries that are now so interconnected
3) resiricts the arcas of decision-making [or markcling companics
4) lcads 1o less competition among the companics within the country
30- Finding a successful strategic position in the market ——-—--—mom—- ’
1) requires to engage in all actions for the good of society
2) demands clear positions about the value that products will ofter
3) depends mainly on social and environmental progress in that country
43 is under the dircel influcnce of local culivre and local language
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10 ) 40 2 70 4 100 1 130 3 160 [Foeae]
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